853A

-

€5

R

29 0 7ol o 395 7ol oK1 3!

(65) Suo plol

O pt Rl (55 s
$295 5 Dlisios g ke 15
23S il G Dlujle

[ 255 Pl o183 i f ol 5> 51,9 500 399 5 s ogn3T |

(18Y wS) MBA < v g

V5w 5,lond g Slawi ¢ ool dlge g

oo U | ojlodd 51| Jlgw olawi' | Glxiwl Olge | 0,

v. \ Y- (V) Su e slogs o \

P Y Y Seplpel capae |y

. £ Y- el B

L 1PRY Jl oo 99 s ]
o&)‘d.i Gﬂﬁn 0}03

") 2 2

R gy

T




Y axio 853A (1) Cu powo g 90

(] digfar gty ddgi 50 35 505 9 solo (31,551 o

Sbj- o5 (¥ SRS oS - b (F Sbj- sk ()

FABS o0 ki Aigfar 1) (2,10 e i Oy o g (3ilgd g Laaly (o b j SO

P - oS (F FoS e feS (Y P8 - ek (¥ P = et ()

foml Joubb i 5l cadlad plas JUo B oo (5 Lwdinty

& ks (F s (¥ Sk b O

o3l Sinlod ma 1) Ll (omato Bud Sy Ghoni 4 Sghare Gocudlad and cylud b ilgss b poe ol oS Gub
eouike By (F Capppe oz (¥ sl pe bl (Y 5 o3 ()
Tl oo bt o prote (G55 sl 3 dsaws oIS 952 o 5 4 (bl pr> SS9 Wl

PEINPENG; g e RS E L Sl o 3l O

il Jid (215l o pluS 0S5 590 6515 Comdg Jos g1y 03 1l g o1,5HU8 1 el oo

(g (¥ Ly (F SS5elem (¥ o595, O

P s S 31 B g loj (Lail 4y iy poe Jeol Culey b sl Wil jlolaat b byl » gad G5B 6lp e
oy S oS’ a1 Soalos

olLesl g 38l (F & Sen (¥ Zuloa (¥ Js Q)

fluwl 035 7 yho (oS 42 )b (gl 1) Ja 51pa bl p g Olaises 1 ool

91y (F Carol plal (Y 29 oS le (Y Skl (A

a Sloas dlyl auzh g 3l Gloj Guile; Blas a4 jeliio 4 ) Lolfinwm! b Flous Sluil 59555 anads sl
€09 g0 ooliiwl 4 i plas 51 byl

S sl o (F > g yaelp (7 o (Y Giboa s (O

fadly oo a8l JWoS slaplojln (Fig plas’ ol (asls Jlad g omwy puf ObLS )1 51 ooliil & ol oo a9 48le
2 9 s 3,65 5 (¥ Jos 4 e ()

S5l eolid b (5590 40 sl 58! (F Sy b S5 b3l sl (¥

fal (G 0 (G 9 LS dunlio (o3l & i) 390 )0 ol pluS Wlalllae 4w,

SIS (F & o (T IR RTINS S O
SSRGS ) o2 3y 530 1) (il y ()bl 0 y900 &1 el b b )8 B 45 1S5 93 oo S
Spalasd 5 0 40 ;59

S ploe Laily) Slosliinl (P pedions poé ploail o (V0 39290 oy S i (F 8o Jolod ()
Cunl plas” Slojlw oy fil (pguas 30 ol il s (2 o

Soplil Jelge (¥ B, sla; ) (¥ By g (¥ (o ()

€510 ST 3,190 plaS 1 LSl § Jylug G 3 15 wialyd Jomo

SleMbl & (g s (¥ Al B 595 (¥ =S 5 oo e (F & pdySllast (4
Ol Jad ol s oIS Jlgy Il s JUS 55 Calggiome (ol

winbg o9 I3 gre (F B s ety 2)les g5 (V 9k O
Sl )Ll plas sla 529 51 03 35 50 93U 5 gladuby (1! S pasi

s (F sl b > (¥ o3l ()

FAS (o0 G )L L plas' 5590 50 €U (LMo [y (lojlw (g S ol 35 yo Wilgi (o0 (ol Al So» O)Le

4> (F oslus (¥ lns (Y oSl ()

-\

-\

-¥F

-1

-\

-\



¥ amio 853A (1) o pae s 9o

ol 00lo a ‘;’Q)Q ‘SJL\LA.‘ M )i’LH uLa.w)LM l.SJ PLE ST PL.\S

o axdlao oyl Loms IS slass (¥ oo azdlae ) lams Sl ()

D 85995 )5 (5,185 b e (F ous azdlae Lo Slows o s (V7

Sl dighy o i a2 (Lol pus g Ol il S ) lanmo (28105 (551 il 50

oS - i (F by - g (¥ oS = go e (¥ Sbj- @~ O
Claml digfa cad i dr Caowy g (30,5 9 lailiwl (ol qauazi oy alil

has_ hao (F $98 - s (¥ i - (598 (V S - 98 ()
Coml plojlw Wl 43y al> po plaS sla Fhg i1 £ 9o GWo)15L 9 35 p0d pore

AL (fF e (7 oy (¥ Jsft (1
] (g o o S 50 00Liw 4 (G950 Dlebos Cammnd Kby 3590 plos

P55 53 by 53 st (¥ alopm ZnS5l £ 5 (¥ $O9rge 35 (V 9 o> ()
ol plas Slojlw jUs L s1321 51 52 (0 55 il Sony

5l ye el (¥ S ez (1 S (F Fr0

] 43982 i 49 Y guaeo 30 (559198 a0 3 (Sl lo puw (U033 « F gunolS 513810 55 (SAdgi SlBCS s o

oS~ o5 (F sbj- o5 (¥ S - ob; (¥ sy ob; O

fewlagl o g9 plaS 952 jolo sslojlu (Sounsd)g

) seleinl o Slosle (F 3l elasls Slojlo (F 25 olasl 3 (Y sl golatil L 15 ()
Conml 8 IKS S 5o (bld,l s le Ol (bl )l asiud plas 5o

oo (F lols (¥ a3l aw (¥ &loLw ()

Sl Jicmlio (J S puna o105 s 50 SO 551 pl (o laabl pus byl 5o

cslelas (¥ Guas (7 e (F =3 O

fobly oo (il Jolge 932 65105808 0,51,5 53 9,590 plus

Bas Log) 5 zeey (F Boe a4y g (1 523 ol (Y olas ()
el (ylojlo @i 4 yloj b 50 1 jlazo 10 pead g 0092 o S ST lojluw s azuT &S Conol Aako 2390 5,503, plaS
Soe 4 s (F el elge (7 S8, sl (Y o ()

0,10 6 il 4z w4 W33l g wledbl (Kbl Jlaiot s 35 yai pas

Cugd - s (F haai . els (Y s -yl (Y ol - al38l ()

SO F 1wl Co pe

o ol o qalio 31 53S0 5o Pids ST (o S5l Wnsd plas

s (f &)9logm (¥ aJbs (Y %, ()

faibly oo lojlw GCallad 5l g9 plaS 952 i Glous 9 (59l arwgi (031 0 yuondy ubo

Ol - olay (F ool = ol (F bty gl (Y ol = el (0

L aS wijlo g o0 Culdy a1 aylio 30 Wiy oo 515 e 8ylos A5 50 &5 S bylojlw ool STyl o yilo b
N1 51 s omdge 50 by 5 31 g WS o widy WS San

¥ (f Y Y ' Q

-1A

-1

-1

-y

-y

-Y¥

-Yb

-vs

-Yv

-YA

-¥q

—Y.

-

-Yy

vy



f axio 853A ) JUIW UNRPR Y

faolus G 51wl phadl g Cundgo (i)l e ile (52515 Jolge Lol slaasll
Lake ply g deme DLI (T Jlo Gl g laemme SLS (Y (DB, S s St Ol (Vo Bl g (R85 e O
femnl 03,5 00liiasl (5351 yiuml IAS 313,50 p )2 Ay A IS ( SAAS oS Slgi Sy S

oFen g9 (¥ 3k axwgs (¥ sy S3ges plel (Y s 33 el ()
foml 4982 iy @ I3l 3 Jpame Camdg HliL arwgi Bl 5o

o - de>ge (Y 39290 - Sg>g0 (¥ S92 ge — dgaz (V e - ae ()
£392 aplgs cowlio (5 piwl plaS b adsy Al yo 55 45 g S g 1S BB 0l Wyad jus 42y G5 ol Hilo Gub
Sl (F oS (Y drsgs (Y by (O
£39u g0 Lgmro (AalS slag 3l il 952 9,90 plas

Ol g4 (F aillblie £4,5 (¥ s (Y <okl (O
(39 o0 (AL il p2 (Fone 3 55%95 30 lojlw @il 51 SyplaS 952 &5y 0frg Wlidos g ladyg,

S9ly 9 B (F S90S (¥ ok (¥ sl O
Cigus g0 J1od 0)g0 pluS &1 39 oIl Lo biw 5L wls) & 55 45 i8g

Sl sy s (¥ g cosdle (¥ 03 s oI5 (Y S (O

202 1y s PG Jams rodls aigf 2l e ( A3 1o OleMbl p 0g¥e SO 51 pow! Cu o dawgd alo o plas o
Yadas o Slusk! oasgl Je oy slply Fos slanig, ‘;,T ool 2 00,8 tS)Bi

B e 4 15U s yaelp (F RO 2 e S5y dabn (7

Lol oo OGPl Cu prae sans plas Kily cuwi i & e ol e Sl Jow 9 GE Jow 3 ool

Sl - S F S S S s (X S )5 O

9 Hbiwgd 03lgils () Ken a5 jab T (el ;L ST L 1) 345 05 S g0 3b S8 ( SNST (9 5 g plas 5o
oS Kolod (ilod 5 yanni drols>

s (F o (F Jglae (Y S olgils (A
fablion yirm (SR8 oy 3 S plaS 532 WY gamo 905 haw (09 YL

baor Sl (F oslly sL3, (¥ OB S el (¥ Shlv > O
faml (B (Pgp 0590 plas

wreel 0,8 SO sl dad (Y oMbl Sl g ()

sk Bb L Lk sl S (F snld So L Sy el S (Y

ol gl 85 4z 9 350> Y gate (Sl Oyl

el ol LS, ge (M

ol 057 00lainl 3590 Y guats s (sloas; ja (Y

sl 355 Sloas 5 LY 5500 ;0 gei (F

sl 83 3l DY gaze 3 Shes g Seod o DS e (F

Sl dighay i )i &g Cund g Sdgi bad 0 i Blodd 3l (gluigud (55lw 95995 <5

oS o5 (F oL - oS (Y oS - ok (Y objy- ok ()
€03l g0 Lnrad 1y wr loaine 30 513198 & Gl Jleint oS 1l plaS ol S 58 5,55

ol S asty (F Okgz Seo 3 (Y S8 delo (¥ ol (1

-Yf

-Ys

-vs

-y

-YA

-4

N

-¥3

-fY

Y

-¥¥

-fo

-¥5

-fv

~FA



b axae 853A ) UV RUFRPR Y

ade Ko 5 65135 Aoy (sl i Glocao b 51 Jlio & Loils Cu e () oiadgn il Guisainb g5 plaS 5o
¢l .Ia.».”u )‘l ‘;blfi PO

O, g3 s a4y (F 97 o) sbee g, (7 ozl 4y, (¥ Jud 4>, ()
Ol (gs g o (I SExE! 35 € prcslo i (y9ad 31 hem asbudl G151 & 45 S proko (1 siumiishony S5 plaS
oy odde (V GU'> o9 O

2312 18 5l ot (g sl (F Sy Slsb (¥

Caml g0l wmy plaS Sl €Sl 410,95 2 3Y a4 g (o oM 31 lojlur LI Jlgms & asly

§910gm 9y g iy &y azgi (F oy s @ azg (¥ il (¥ H O
(g go ka0 (5351 kel el 1S 35 Ygoms (B (sloes 31 !

slaadsy (F o8 (¥ ONS (Y W g e (0

Claal g Lo oo b5 g3l o ygole st 35 gt g0 Jlgmw A0S 0 drl oo pte wlos 25 glas 5o
oS (oo Sl 1y o2 lod Loty

S g sy S8l (F &l o8 L (T Jlad 8 Lo (Y 0uisS g o ()

9 G5 ol S b ()1 (3l (o210 Jladil pdlgo I (S by g S pb slodal Culghume 98l plas 53
T o (6 IS ol

oS gleinl colos (F e, (¥ S (Y a8, el s Shee ()
N sSore §ln plojle 6970 (Sl 5l oslisiwl jgliio 4y (Fgym 9 (950 Jolge Jolti 31 G 31 pul malolyly plas o
o9 g0 Sloml (dautne S 51 il glocus )3

spe (¥ ooy (¥ =S5 alegailyss (1

299501 (gl Ll aamd b ady 9 (B sl Joe j (o3 1 Dl guas gy y2 42 SO 5T sl Sy Jike oS
fodib oo oLl jul g o90e sal0jl

e s oglp (F NI S8 3o, (F o2 g sl (O

9 Loy 5l slaegomo ayly o 1yl (31l (2li )l pLCs &1 a5 Conl il 51l (20551 Hlne plas’ 31 jgkiio
Coims )1)8 (omy 0590 1) aaig) 51 S 2 5

g oSl (¥ By Sy (¥ &5k (¥ Seles ()
oS (o0 Wl (ol i papho plas (35 0 (Gl e 51 (DS 9 955 Ly 90 52 50

Sy Sdgias (¥ Sedla (¥ Slglee (¥ 555l ()
€39 0 plowil (5 331yl (2903 ol L9 Uz (53959 4l> o 53 s o plas

Sl gy (¥ yos 0599 ()

Sl pladl g Soadga b1 (F Ot Olyglie 095 (T

¢! i cwlio L s 51 ! 31 aiws plaS CA g ES oy 4l jo (58 )8 11,8 W jgu0 5o
& IS aliilowa (F S8, oxles (¥ el ()

~¥4

_ac

-0

-OY

-ay

-of

-60

-bf

-ov

-0A

-54

_;0



61-

62-

66-

68-

69-

70-

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence and then mark the answer on your answer sheet.

Advertising proponents have been calling for companies to protect their brand -----------
and franchise by investing more money in advertising.

1) trend 2) return 3) equity 4) segment

Marketers attempt to identify --------- attributes, those that are important to consumers
and the basis for making a purchase decision.

1) salient 2) obsolete 3) cohesive 4) persuasive
Entrepreneurs must be able to obtain financial -~------------ , which is likely to come from
individual investors, to support business development.

1) capital 2) statement 3) internship 4) ownership

The highest level of commitment is when an international business purchases a company
as a wholly-owned ----------- , which is an independent company owned by a parent
company.

1) asset 2) expenditure 3) subsidiary 4) commodity
Strategic planning typically takes a wide view while ----------- planning is more narrowly
focused and short-term.

1) tactical 2) commercial 3) technical 4) collateral

Most international businesses operate in a/an ----—----—--- environment where environmental
change often is rapid and unpredictable.

1) placid 2) turbulent 3) fraudulent 4) legitimate

In order to gain market share in china, we are ------------- relationships with local agents.
1) setting out 2) breaking off 3) building up 4) closing down

Sales staff who are impolite to customers ----------—-- the reputation of a company.

1) disrupt 2) damage 3) facilitate 4) consolidate
Marketing research studies are concerned with consumers’ perceptions and attitudes,
lifestyle, and ---------- for making purchase decisions.

1) criteria 2) premises 3) prospects 4) implications
Consumers generally tend to be less ---------—-- toward favorable information about a

product when it comes from a source they perceive as unbiased.
1) compatible 2) skeptical 3) homogeneous 4) autonomous



PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space and then mark the correct answer on your answer sheet.

71-
72-
73-
74-
75-

An entrepreneur is someone who undertakes a new (71) --------- . Entreprencurs are typically
seen as individuals who are willing to take on the risk of starting a business. In fact. most
entrepreneurs are good at (72) ----------- windows of opportunity. or areas of opportunity that
others don’t see. What others perceive as (73) ----------- . entrepreneurs may perceive as a good
opportunity. Entrepreneurs play an important role in developing new products. markets. and
employment. In the United States. small-and medium-sized enterprises (SML). often defined as
businesses with fewer than 250 employees. (74) ---------- more than 99 percent of all
employers. They employ more than half of all (75) ---------- employees. they pay 44.5 percent
of total U.S. private payroll and annually gencrate 60 to 80 percent of new job

1) venture 2) revenue 3) transaction 4) negotiation
1) purchasing 2) generating 3) embracing 4) spotting

1) synergy 2) risky 3) risk-taking 4) leave-taking
1) cut off 2) evolve from 3) account for 4) settle down
1) high-quality 2) self-service 3) one-party 4) private-sector

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing

the best choice (1), (2), (3), or (4) and then mark the correct answer on your
answer sheet.

Passage 1

In developing the firm's marketing strategies and plans for its products and services. the
manager must carefully analyze the competition to be faced in the marketplace. This may range
from direct brand competition (which can also include its own brands) to more indirect forms
of competition. such as product substitutes. For example. as a result of shrinking cola sales.
both Coke and Pepsi planned to launch more than two dozen new products in 2005. Besides
competing head in the soda market with products like Coke. Diet Coke with Lemon and more.
versus Pepsin Diet Pepsi. Pepsi Twist Pepsi Blue, and Pepsi Vanilla, the compantes face
competition from other drink including bottled water, juices. and teas.

At a more general level. marketers must recognize they are competing for the consumer's
discretionary income. So they must understand the various ways potential customers choose to
spend their money. For example. recently the U.S. market has seen significant growth in the
high-end luxury market. with more consumers spending more of their money on luxury goods
than ever before. High-end products from Coach, Tiffany's. and Ralph Lauren are all benefiting
from this change in consumer spending habits. Interestingly. it is not just the wealthy who are
purchasing these very expensive products. but the middle class is doing so as well. L.eading
marketers apply labels such as the "mas-sification of Luxury." luxflation”. "or the "new luxury"
segments.
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An important aspect of marketing strategy development is the search for a competitive
advantage, something special a firm does or has that gives it an edge over competitors. Ways to
achieve a competitive advantage include having quality products that command a premium
price, providing superior customer service, having the lowest production costs and lower
prices, or dominating channels of distribution. Competitive advantage can also be achieved
through advertising that creates and maintains product differentiation and brand equity, an
example of which was the long-running advertising campaign for Michelin tires, which
stressed security as well as performance. The strong brand images of Colgate toothpaste,
Campbell's soup, Sony, and McDonald's give them a competitive advantage in their respective
markets.

The passage is mainly about --------—---- .

1) opportunity analysis 2) competitive analysis

3) crisis management 4) international marketing

According to the passage, the change in consumer spending habit is the result of ---------- .
1) confidential marketing report 2) expansion of market segment

3) impressive profit figure 4) growth in luxury market

All of the following are true EXCEPT that ---------~-— .

1) having quality products is a way to establish business at the top of industry

2) in order to secure a competitive advantage, companics try to make their products and
services stand out from their competitors

3) in the aggressive business world. a company which opts to be the lowest cost provider of
goods dominates a niche market

4) long-term advertising achieves a competitive advantage by taking strategic planning and
conducting extensive research

The word “discretionary” in line 10 is closest in meaning to ----------- .

1) joint 2) gross 3) disposable 4) taxable
Reading the passage, one can come to the conclusion that ------------—--- .

1) more consumers spend their money in the high-end luxury market

2) by oftering goods and services at the lowest price, a company gains the luxury market
3) a combination of low cost and good quality is a key to success in marketing strategy
development.

4) to achieve differentiation advantage, the business must focus on efficient production

Passage 2

Strategic planning forces a business to analyze the whole organization and the environment
in which it operates. Planning can help map the future and can develop a common
understanding and agreement within an organization. It helps to focus energy toward to
common goals. Strategic planning allows a business to respond better to problems and change
direction in response in response to a changing environment.

International businesses operate in an environment that is more complex than a business
operating within a single culture. Cultural differences can lead to conflicts inside an
organization. An international company's size and physical distance between divisions add to
the complexity.
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Management must have a strategic view in order to allocate its resources. Developing an
international marketing strategy allows a business to be proactive. Proactive international
marketers realize that there are profits to be gained in global trade. They may have evaluated
their products and found they have unique advantages for markets around the world. Many
businesses find it important to gain economics of scale to be able to compete, especially when
international competitors are ready to enter global markets.

A business also can have a reactive strategic approach when it is forced to react to
environmental pressure. Many companies without international focus find themselves facing
competitive pressure from international companies. They are forced to conduct business
internationally to maintain market share and customers. Companies also may find that they
have excess inventories that they are unable to sell in their home market. They may be forced
to look overseas for new market opportunities. Sometimes companies actually lose their home
market. Perhaps new technology has replaced the need for their existing products, or other
pressures have forced them to move existing product lines into new international markets.,
Foreign customers can also initiate change by placing orders, which opens up international
business opportunities.

According to the passage, the attributes of a good planning include --------------- .
1) protection of the competitive marketing environment

2) dissemination of the best practices to obtain desired goals

3) separation of thought from practice in strategy development

4) consolidation of financial statement for the whole group of companies

The word “inventories” in line 20 is closest in meaning to --------------- .

1) stock 2) slogan 3) discount 4) agency

Itis expllcnly mentioned in the passage that international businesses ------------

1) operate in a multicultural environment where the high level of planning is rcqmrcd

2) share a single culture to provide strategic performance feedback to decision-making

3) have a strategic view in which management evaluation is a shared common goal

4) develop marketing strategy through focusing attention on company's size and physical
distance

The passage suggests that “economies of scale” -------------- .

1) uncover the businesses that are after the same target market

2) are a prerequisite for creating an edge over competitors in the global trade

3) prepare for creating a global brand in a number of potential domestic markets

4) arise to explore competitors” strengths and weaknesses. imitate their strengths, and use their
weaknesses

All of the following are true EXCEPT that --------—--—--—-

1) a reactive strategic approach is an intervention used to minimize declining market.

2) companies lose their domestic market since they lack the tradition and the concept of
excellence

3) domestic market cannot compete with worldwide market, especially when international
competitors take over the market

4) a proactive strategic approach is used as an ongoing basis in an attempt to reduce the future
probability of environmental pressure
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Passage 3

Most of you are aware of advertising and other forms of promotion directed toward
ultimate consumers or business customers. We see these ads in the media and are often part of
the target audience for the promotions. In addition to developing a consumer marketing mix, a
company must have a program to motivate the channel members. Programs designed to
persuade the trade to stock. merchandise. and promote a manufacture's products are part of a
promotional push strategy. The goal of this strategy is to push the product through the channels
of distribution by aggressively selling and promoting the item to the resellers, or trade.

Promotion to the trade includes all the elements of the promotional mix. Company sales
representatives call on resellers to explain the product. discuss the firm's plans for building
demand among ultimate consumers and describe special programs being offered to the trade
such as introductory discounts. promotional allowances and cooperative ad programs. The
company may use trade advertising to interest wholesalers and retailers and motivate them to
purchase its products for resale to their customers. Trade advertising usually appears in
publications that serve the particular industry.

A push strategy tries to convince resellers they can make a profit on a manufacturer’s product
and to encourage them to order the merchandise and push it through to their customers.
Sometimes manufacturers face resistance from channel members who do not want to take on
an additional product line or brand. In these cases. companies may turn to a promotional pull
strategy. spending money on advertising and sales promotion efforts directed toward the
ultimate consumers. The goal of a pull strategy is to create demand among consumers and
encourage them to request the product from the retailer. Seeing the consumer demand. retailers
will order the product from wholesalers. which in turn will request it from the manufacturer.
Thus. stimulating demand at the end-user level pulls the product through the channels of
distribution.

The best title for the passage is --------------

1) Reacting of competitors to promotional spendm&>

2) Preparing for the international marketing launch

3) Developing promotional strategies

4) promoting global expansion

All of the following are given as the firm’s plan for creating customer demand and special
program being offered EXCEPT ------~-----—-- .

1) peak sale 2) discount scheme
3) advertising campaign 4) promotional allocation
The passage suggests that a “promotional pull strategy” is used to --------------- .

1) take the product directly to the customer to encourage retailer demand

2) get involved in a communication demanded by the customer

3) have an established relationship with the customer when the product is a purchase-type item
4) motivate the customer to seek out the brand in an active process of channel of distribution
The word *“aggressively” in line 7 means ------------—--- .

1) broadly 2) inversely 3) shortly 4) competitively
According to the passage, promotion to the trade -------------- .

1) stimulates supply for product through personal selling

2) involves promotional mix to make a profit on a manufacture’s product

3) includes a marketing mix program to enhance the quality of goods and services

4) employs media and non-media communication to increase customer demand
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